Virginia High School League

Scholastic Bowl, 2000-01 season

District Competition, Match #5


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
What Norwegian composer is best known for his works such as March of the Trolls, Wedding Day at Troldhaugen, Ase’s (AH-sehz) Death, Anitra’s Dance and Hall of the Mountain King?

ANSWER: Edvard GRIEG
2.
In humans, it contains things such as alpha-amylase, which aids starch digestion, and mucin, which binds food together and lubricates the throat. What is this substance, quantities of which are produced in the mouth every day?

ANSWER: SALIVA
3.
THIS IS A COMPUTATION QUESTION.  A square garden can be enclosed with 300 feet of fence. What is the area of the garden in square feet?

ANSWER: 5,625 square feet

4.
Vidkun Quisling has lent his name to any traitor or collaborator with the enemy. What country did Quisling rule in the name of the Nazis?

ANSWER: NORWAY
First period (continued)

5.
What three-letter word, although not a prefix, precedes the word fish, bathe, roof, screen, dial, stroke, set, rise and shine?

ANSWER: SUN
6.
A particle’s position might be known, or its velocity might be known. But not both. This is a summary of what uncertainty principle?

ANSWER: HEISENBERG uncertainty principle

7.
The quantity a plus b, squared, equals the quantity a squared plus 2ab plus b squared. This is an expression of what theory?

ANSWER: BINOMIAL Theorem

8.
What is the name given to the World War I veterans who marched on Washington in 1932 seeking promised service payouts, and who were swept out of Washington DC at tankpoint by troops led by General Douglas MacArthur?

ANSWER: BONUS ARMY or BONUS EXPEDITIONARY FORCE (accept anything similar with Bonus in it)

9.
No reason is given for the shooting of this bird, although the murder weapon was a cross-bow. The punishment for the death of this bird is twofold: the entire crew of the ship, save one, is killed, and the survivor must tell his story as often as possible. This is a description of the killing of what character in The Rime of the Ancient Mariner?

ANSWER: the ALBATROSS
10.
Of course there are nine members of the US Supreme Court, but how many members are on the Florida Supreme Court?

ANSWER: SEVEN
11.
What author created the character Natty Bumppo, also known as “The Pathfinder”, who starred in the five books of his Pathfinder series?

ANSWER: James Fenimore COOPER
First period (continued)
12.
He was born in Warsaw, but emigrated to Paris to pursue musical fame and fortune. He had a ten-year affair with the writer George Sand, but is best known for his musical works. Who is this composer that is best known for his Polonaises for the piano?

ANSWER: Frederic CHOPIN
13.
This alkaloid derived from pyridine has the formula C10H14O2, and is used as an insecticide. It is poisonous and addictive and is one of the most commonly abused substances in America. What is this substance found in the leaves of tobacco?

ANSWER: NICOTINE
14.
Bourne, Korn and C are the three most common examples of what UNIX operating system feature?

ANSWER: SHELLs

15.
This Chinese dynasty was interrupted by Wang Mang, who led the short-lived Tsin dynasty. The Romance of the Three Kingdoms was about events at the end of this dynasty. What was this dynasty that ruled between 206 BC and 220 AD?

ANSWER: HAN
Second period: 10 directed questions 

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What is the name given to the tough bands of tissue that support internal organs or connect bones?

ANSWER: LIGAMENTS
1B.
THIS IS A COMPUTATION QUESTION. Michael bought 100 shares of an Internet startup at $50 each. He kept them until they were de-listed and worth 25 cents each. How much has Michael lost on his investment?

ANSWER: $4,975 ($49.75 loss per share multiplied by 100)

2A.
Who was the mythological woman who challenged would-be suitors to a footrace? 

ANSWER: ATALANTA
2B.
What royal dynasty ended after its “restoration” in France, but continues to live on today in Spain?

ANSWER: BOURBON
3A.
The sequence where each term is the sum of the two previous terms is named for what medieval Italian mathematician?

ANSWER: FIBONACCI
3B.
What African writer is best known for his novel, Things Fall Apart?

ANSWER: Chinua ACHEBE
4A.
William Crawford, Henry Clay, Andrew Jackson and the eventual winner, John Quincy Adams, were the four main candidates in what year’s Presidential election?

ANSWER: 1824
4B.
Wilhelm Roentgen is credited with the discovery of what type of electromagnetic radiation?

ANSWER: X-RAYS
Second period (continued)
5A.
Who wrote the mock-epic poem, The Rape of the Lock?

ANSWER: Alexander POPE
5B.
The names Fernand Leger, Juan Gris, George Braque and Pablo Picasso are associated with what school of art?

ANSWER: CUBISM
6A.
What is the largest and most diverse class of living organisms, with over 1 million known species?

ANSWER: INSECTA and INSECTS
6B.
THIS IS A COMPUTATION QUESTION. The sacred cylinder, which is 2 inches in diameter and 20 inches long, is broken into eight pieces. How big is each piece of the sacred cylinder?

ANSWER: 20 PI OVER 8 cubic inches or 5 PI OVER 2 cubic inches (accept equivalents)

7A.
Whose painting Impression: Sunrise, started the Impressionist school of art?

ANSWER: Claude MONET
7B.
Rodrigo Diaz de Bivar was better known as what 11th-century hero of Spanish independence?

ANSWER: EL CID
8A.
Circles, parabolas and hyperbolas are known by what collective name?

ANSWER: CONIC SECTIONS
8B.
Who wrote the book My Antonia?

ANSWER: Willa CATHER

Second period (continued)
9A.
Ruth Benedict’s classic sociological text “The Sword and the Chrysanthemum” is about what country’s society?

ANSWER: JAPAN’s

9B.
The recrystallization of dolomite and limestone forms what metamorphic rock prized by statue-makers?

ANSWER: MARBLE

10A.
Who wrote the book Life on the Mississippi?

ANSWER: Mark TWAIN
10B.
When born, he thrown off Mount Olympus by his mother, disfiguring him for life. However, what god got some measure of consolation when Aphrodite chose him for marriage?

ANSWER: HEPHAESTUS or VULCAN
Third period: 15 toss-ups 

1.
What three-letter suffix is used to denote the superlative of an adjective?

ANSWER: -EST
2.
In what country would drachmas be considered legal tender?

ANSWER: GREECE
3.
THIS IS A COMPUTATION QUESTION.  A rectangular plot of land is 1000 feet by 2000 feet. The state will take through eminent domain, a piece of land 40 feet wide for a road running the entire 2000 feet through the property. How much land, in square feet, remains?

ANSWER: 1 MILLION, 920 THOUSAND (1,920,000)

4.
Its discoverer first observed it in 1827, noting the movement of pollen grains in water. Einstein explained it in 1905 as the irregular bombardment of suspended matter by invisible agitated molecules of solution. What is the name given to the ceaseless erratic motion of fine particles in suspension?

ANSWER: BROWNIAN MOTION or movement

5.
He has recently revealed he had a crush on Martha Moxley and tried to kiss her in 1975. This is strange behavior for a man who later allegedly used a golf club to bludgeon her to death that very evening. Who is this distant cousin of the Kennedys that is now on trial for that very murder?

ANSWER: Michael SKAKEL
6.
What is the highest mountain in the state of Virginia?

ANSWER: MOUNT ROGERS
Third period (continued)

7.
THIS IS A COMPUTATION QUESTION. A square garden has a walkway of 200 feet going from one corner to the distant corner. What is the length of each side of this garden?

ANSWER: 100 SQUARE ROOTS OF 2 or SQUARE ROOT OF 20,000
8.
The Vickers and Brinell tests are sometimes used to measure this physical property, which is defined as a material’s resistance to denting, scratching and abrasion. However, what physical property is often measured using the Mohs scale?

ANSWER: HARDNESS
9.
With what NFL franchise are the names Gale Sayers, George Halas, Refrigerator Perry and Walter Payton associated?

ANSWER: CHICAGO BEARS (accept either Chicago or Bears)

10.
How many tales are there in the Decameron?

ANSWER: 100
11.
THIS IS A COMPUTATION QUESTION. The Baltimore Orioles spend $30 million a year on bad players. Assuming Peter Angelos’ personal fortune is $350 million and has no new income, how many seasons would it take before he is completely in debt?

ANSWER: 12 years (at that time he will be $10 million in debt)

12.
This object was discovered on the first night of the 19th century but proved too small to be the missing planet between Mars and Jupiter that Kepler’s laws had predicted. What is this object, the first discovered and largest asteroid?

ANSWER: CERES
Third period (continued)
13.
On Pearl Harbor day, he turned 13. His singles include I’m Gonna Miss You Forever, Crazy Little Party Girl and Crush on You. Who is this young man, one of the youngest men to ever hit the Billboard charts, the younger brother of Nick Carter?

ANSWER: AARON CARTER
14.
According to Lord Tennyson, how many men were in the Light Brigade?

ANSWER: 600
15.
The Sherman Act, passed in 1890, was directed against what business structures?

ANSWER: TRUSTS (prompt on monopolies)

Spares
THIS IS A COMPUTATION QUESTION. A criminal is jailed for 12 years on each of 38 embezzlement charges. However, his total sentence is commuted by 250 years. How many years does our criminal have to serve?

ANSWER: 206 years (12 * 38 = 456, 456 – 250 = 256)

Words with the suffix –ness are usually what part of speech?

ANSWER: NOUNS
An animal or vegetable substance, usually wood, is heated in the absence of air to produce this impure form of carbon. It is porous and is usually used as a filter. Coke is a variety of this substance formed from coal. What is this substance which is most famously used to heat hamburgers and hot dogs over a grill?

ANSWER: CHARCOAL
Tezcatlipoca, Quetzacoatl and Huitzilipochtli were gods in what people’s mythologies?

ANSWER: AZTECs

Nicholas Trist is associated with writing what war’s peace treaty, the Treaty of Guadalupe Hidalgo?

ANSWER: MEXICAN WAR
All questions © 2000 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

